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(English Version)

Instructions to candidates :

1. The question paper contains 4 Parts

- PartA, B, C and D.

2. Part-A consists of 4 sections I, I, Il and 174

3. Write the serial number of qu

answering.
4. Write the correct and complete answel.
5. For Part-A questions, only the first written answer will be considered for evaluation.

Part A

I. Choose the correct answer: -

L)

2

3)

4)

5)

The following is not an objective of management.

a) Earning of profits - ' ' 'b} Growth of the organisation.

¢) Providing employment ' d) Pdlk:y Making

estions proper.fy as given in the question paper while

(5 x 1= 5)

Which of the fbllbwing-staiements best describes the principle of 'Division of work'?

a) Work should be divided into small tasks.

“b) Labour should be divided.

) Resource should be divided among jobs.
d) it Ieads to speuallsatlon

Which of the following is not the feature of the planning?
a) It focuses on achieving objectives .

b) it involves identification and division of work

¢) It is the primary function of the management

d} It is a pervasive function. '

- Grouping of activities on the basis of product line is part of:

a) Delegated organisation b) Divisional structure

¢) Functional structure d) Autonomous organisation

Which of the following is a durable product?

a) Ilce cream b) Stationery

c) Postal éervice d) Television

>y



(. Fillin the blanks by choosing the correct answer given in the bracket. (5x1=85)

[Branding, grapevihe. budg_et. capital structure, Henry Fayol, centralisation]

6) is called the father of general management.

7 ——_____ isanexample of single use plan.

8) Informal communication is also called

9) The mix between owner's fund and borrowed fund is called

10) The process of giving name or a sign or a symbol etc. to.their. Pl’Gd'-'Ct by a seller is

called
. Match the following: o | o (5x1=5)
1) A ' B
(a) Démonetization | - (i) Horizontal movement of employees
(b) Respoﬁsibility (i) Criteria for measuring actual
performance
(c) Transfer ' (iii) Marketing mix

(d) Standard (iv) Fi_nancial management
(e) Place : (v) 2016

“(vi) Subordinate
IV. Answer the following questions in one word or sentence each: (5 x 4= 5)
12) Shreyais the manager of southern division of a large corporate house. At what
level does she work in the organisation?

13) Mention any one source of external recruitment.
14) State any one leadership style.

18) What is Fixed Assets? .

16) What is the monetary limit of claim in District C
onsumer D
Commission? Isputes Redressal




V.

VI

f'art—B

Answer any six of the following questions in two or three sentences each.
Each question carries two marks. _ .(5 x2= 121.

17) Mention any two importances of coordination.

18) State any two differences between unity of command and unity of direction.

' 19) What is a"Policy'?

20) Write the meaning of formal organisation.
21) What is Job Rotation? |
22) What do you understand by supervision?
23i Define managerial cpntrbl.

24) Write any two types of financial decision.

25) State any two features of marketing. . |

26) Write any two co;'lsumer's rights_.'

| Part - C |
Answer any six of the follnwing quest.ions in tén to fwetve sentences each.

Each question carries four marks. (6 x 4 =24)

27) Explain any four téchniques of scientific management developed by Taylor.

28) Explain any four features of business environment.

29) (a) The court passed an order that all schools must have water purifier for school
children.

(b) Society in general is more concerned about quality of life.

(¢) Innovative techmques are being developed to manufacture water purrﬁer at
competitive rates..

(d) Incomes are rising and children at home are also drinking purified : water.
Which dimension does the above statement indicate?

-



VL.

ts.
30) Explain the importance of planning with any four poin

¢ of Pragati company Limited. You

31) Suppose you are the human resource manage -t a chartered accountant

' ele
have been directed by the directors of the company 0=
for the company. -

. wed by you-
Explain the first four steps in the selection proceduré follo Y

32) Explain the limitations of controlling.

' ' :on? inany t
33) What do you call the capital needed for day-to-day operation: E"Pla'"_ any three
factors affecting such capital needs. '

34) Explain any four functions of marketing.
35) Explain any four factors affecting price determination.

36) State any four responsibilities of consumer while purchasing,

using and consuming
goods and services.

Part-D

Answer any three of the following questions in twenty to twenty five sentences éach_
Each question carries eight marks. ' ' (3 x 8 =24)

37) Management is a series of continuous interrelated functions - Comment

38) What is Decentralisation? Explain its importance

39) Explain the stages in staffing process.

40) Explain any four financial incentives and non-fing i
-financia

employees of an organisation. Vincentives, to motivate the

41) Explain the merits of adverti
sing and objections
ns 10 advertigj
sing.

————




